INSTALLATION MANUAL

BEDIENUNGSANLEITUNG
MANUEL D'INSTALLATION
MANUAL DE INSTALACION
MANUALE DI INSTALLAZIONE
INSTALLATIEHANDLEIDING

Dual Monitor Desk Mount

€3 Doppelte Monitor-Schreibtischhalterung
Support de bureau pour deux moniteurs
Soporte de escritorio para dos monitores
Supporto da scrivania per due monitor
Dubbele monitor bureauhouder

Model/Modell/Model:MDMO002L

Manufacturer/Hersteller/Fabricant/ Fabricante/ Produttore/Fabrikant: | -
DRAGONTEN WORLDWIDE LIMITED ' Apex CE S lists GmbH
!
!

Address/Adresse/Adresse/Direccion/Indirizzo/Adres: EC |REP f;;fg';ﬁez'ggégge 277i’:f?)2é7a g:f,idgg DE
Room 1702, Block A, 17/F New Trade Plaza, ! -
6 On Ping Street, Shatin, Hong Kong .
Telephone/Telefon/Téléphone/Teléfono/Telefono/Telefoon: !
+852 8191 1686 !
Mail/E-Mail/Courriel/Correo/Posta/E-mail: .
compliance@dragontenww.com !

CT Global UK Limited
Tower House Lane, Saltend, HULL, HU12 8EE, United Kingdom
+44 20 3287 9128  compliance@ctglobal.co.uk




A\ UNPACKING INSTRUCTIONS

e Carefully open the carton, remove contents and lay out on
cardboard or other protective surface to avoid damage.

e Check package contents against the Supplied Parts List in the
next page to assure that all components were received
undamaged. Do not use damaged or defective parts.

e Carefully read all instructions before attempting installation.

A IMPORTANT SAFETY INFORMATION

e Install and operate this device with care. Please read this
instruction before beginning the installation, and carefully
follow all instructions contained herein. Use proper safety
equipment during installation.

* Please call a qualified installation contractor for help if you
don't understand these directions or have any doubts about
the safety of the installation.

Do not use this product for any purpose or in any configuration
not explicitly specified in this instruction. We hereby disclaim
any and all liability for injury or damage arising from incorrect
assembly, incorrect mounting, or incorrect use of this product.

01



A ANWEISUNGEN ZUM AUSPACKEN

» Offnen Sie den Karton vorsichtig, nehmen Sie den Inhalt
heraus und legen Sie ihn auf Karton oder eine andere
Schutzoberflache, um Beschadigungen zu vermeiden.

e Uberpriifen Sie den Paketinhalt anhand der mitgelieferten
Teileliste auf der nachsten Seite, um sicherzustellen, dass
alle Komponenten unbeschadigt angekommen sind.
Verwenden Sie keine beschadigten oder fehlerhaften Teile.

e Carefully read all instructions before attempting installation.

A WICHTIGE SICHERHEITSHINWEISE

e Installieren und bedienen Sie dieses Gerat sorgfaltig. Bitte
lesen Sie diese Anleitung vor Beginn der Installation durch
und befolgen Sie alle hier enthaltenen Anweisungen sorgfaltig.
Verwenden Sie wahrend der Installation geeignete
Sicherheitsausrustung.

e Bitte rufen Sie einen qualifizierten Installationsunternehmer
um Hilfe, wenn Sie diese Anweisungen nicht verstehen oder
Zweifel an der Sicherheit der Installation haben.

Verwenden Sie dieses Produkt nicht flir einen Zweck oder in
einer Konfiguration, die nicht ausdrucklich in dieser Anleitung
angegeben ist. Hiermit lehnen wir jegliche Haftung fur
Verletzungen oder Schaden ab, die aus einer falschen Montage,

einer falschen Montage oder einer falschen Verwendung dieses
Produkts resultieren.

02



A\ INSTRUCTIONS DE DhBALLAGE

* Quvrez soigneusement le carton, retirez le contenu et
disposez-le sur du carton ou une autre surface protectrice
pour éviter les dommages.

e Vérifiez le contenu de I'emballage par rapport a la liste des
pieces fournies a la page suivante pour vous assurer que
toutes les composantes ont été recues intactes. N'utilisez
pas de piéces endommagées ou défectueuses.

e Lisez attentivement toutes les instructions avant de tenter
l'installation.

A INFORMATIONS DE ShCURITh IMPORTANTES

e Installez et utilisez cet appareil avec précaution. Veuillez lire
cette instruction avant de commencer l'installation et suivre
attentivement toutes les instructions contenues ici. Utilisez un
équipement de sécurité approprié pendant l'installation.

e Veuillez appeler un entrepreneur d'installation qualifié pour
obtenir de I'aide si vous ne comprenez pas ces instructions
ou si vous avez des doutes sur la sécurité de l'installation.

N'utilisez pas ce produit a des fins ou dans une configuration
non explicitement spécifiées dans cette instruction. Nous
déclinons par la présente toute responsabilité pour les blessures
ou les dommages résultant d'un montage incorrect, d'un
montage incorrect ou d'une utilisation incorrecte de ce produit.

03



Es]
A INSTRUCCIONES DE DESEMBALAJE

* Abra cuidadosamente el cartén, retire el contenido y coléquelo
sobre cartén u otra superficie protectora para evitar dafos.

e Verifique el contenido del paquete con la lista de piezas
suministradas en la siguiente pagina para asegurarse de
que todas las componentes se recibieron sin dafios. No
utilice piezas dafnadas o defectuosas.

e Lea cuidadosamente todas las instrucciones antes de intentar
la instalacion.

A INFORMACIN IMPORTANTE DE SEGURIDAD

* Instale y opere este dispositivo con cuidado. Por favor, lea
estas instrucciones antes de comenzar la instalacion y siga
cuidadosamente todas las instrucciones contenidas aqui.
Utilice el equipo de seguridad adecuado durante la instalacion.

e Por favor, llame a un contratista de instalacion calificado para
obtener ayuda si no comprende estas instrucciones o tiene
alguna duda sobre la seguridad de la instalacion.

No utilice este producto para ningun proposito o en ninguna
configuracion que no esté explicitamente especificada en estas
instrucciones. Por la presente, declaramos toda responsabilidad
por lesiones o dafios derivados de un ensamblaje incorrecto,
una montura incorrecta o un uso incorrecto de este producto.

04



A\ ISTRUZIONI PER LO SCARTO

e Aprire attentamente il cartone, estrarre il contenuto e
posizionarlo su cartone o un'altra superficie protettiva per
evitare danni.

e Controllare il contenuto del pacchetto rispetto all'elenco
delle parti fornite nella pagina successiva per assicurarsi
che tutte le componenti siano state ricevute integre. Non
utilizzare parti danneggiate o difettose.

e | eggere attentamente tutte le istruzioni prima di tentare
I'installazione.

A\ INFORMAZIONI IMPORTANTI SULLA SICUREZZA

e Installare e utilizzare questo dispositivo con cura. Si prega di
leggere queste istruzioni prima di iniziare l'installazione e
seguire attentamente tutte le istruzioni contenute qui.
Utilizzare I'attrezzatura di sicurezza adeguata durante
I'installazione.

* Si prega di chiamare un contraente di installazione qualificato
per ottenere aiuto se non si comprendono queste istruzioni
o si hanno dubbi sulla sicurezza dell'installazione.

Non utilizzare questo prodotto per scopi o in configurazioni non
esplicitamente specificate in queste istruzioni. Con la presente
decliniamo qualsiasi responsabilita per lesioni o danni derivanti
da un montaggio errato, un montaggio errato o un uso improprio
di questo prodotto.

05




A UITPAK INSTRUCTIES

¢ Open de doos voorzichtig, verwijder de inhoud en leg deze op
karton of een ander beschermend oppervlak om beschadiging
te voorkomen.

e Controleer de inhoud van de verpakking aan de hand van de
meegeleverde onderdelenlijst op de volgende pagina om er
zeker van te zijn dat alle onderdelen onbeschadigd zijn
ontvangen. Gebruik geen beschadigde of defecte onderdelen.

e Lees alle instructies zorgvuldig voordat u met de installatie
begint.

A BELANGRIJKE VEILIGHEIDSINFORMATIE

°Installeer en bedien dit apparaat met zorg. Lees deze instructie
voor het begin van de installatie zorgvuldig door en volg alle
hierin opgenomen instructies nauwgezet. Gebruik tijdens de
installatie de juiste veiligheidsuitrusting.

*Bel een gekwalificeerde installateur voor hulp als u deze
aanwijzingen niet begrijpt of twijfels heeft over de veiligheid van
de installatie.

Gebruik dit product niet voor enig doel of in enige configuratie
die niet expliciet in deze instructie is gespecificeerd. Wij wijzen
hierbij elke aansprakelijkheid voor letsel of schade als gevolg van
onjuiste montage, onjuiste bevestiging of onjuist gebruik van dit
product van de hand.

06



Contents - Inhalt: Contenu - Contenido - Contenuti - Inhoud

(1)Pole (1)‘C’Clamp  (1)"C"Clamp Brace (1)Swivel Arm

B D

(2)VESA Plate (1)Softenpad (2)M6x10 Bolt (3)M6x8 Bolt

(2)Plastic knob (2)M3x8 Bolt (1Y5mm Allen key (1)6mm Allen key

(7]

(1)Wire Clip-M1 (4)Wire Clip (8)M4X12 (8)M4X16

(8)M5X12 (8)M5X16 (8)D6

@ @

07



Step 1 Install the Pole to the Desktop

Schritt 1: Befestigen Sie den Pfosten am Schreibtisch
Etape 1: Installez le poteau sur le bureau

Paso 1: Instale el poste en el escritorio

Passaggio 1: Installare il palo sulla scrivania

Stap 1: Installeer de paal op het bureaublad

Option A: Desk Clamp Install
m Option A: Tischklemme Installation
Option A : Installation par pince de bureau

Opcién A: Instalacioén con abrazadera de escritorio
Opzione A: Installazione con morsetto da scrivania
Optie A: Bureauklem installeren

A_ Install the “C” Clamp Brace(C) to the Pole (A) using 3pcs M6x8 Bolts(H),
and tighten using the Allen Key(K).

Befestigen Sie die "C"-Klemmstiitze (C) mit 3 Stiick M6x8
Schrauben (H) am Pfosten (A) und ziehen Sie sie mit dem
Innensechskantschliissel (K) fest.

Installer la bride a serrage en "C" (C) sur le poteau (A) a I'aide
de 3 vis M6x8 (H) et serrez a I'aide de la clé Allen (K).

Instale el soporte de abrazadera en "C" (C) en el poste (A)
usando 3 tornillos M6x8 (H) y apriete con la llave Allen (K).

Installare il supporto a morsetto a "C" (C) sul palo (A)
utilizzando 3 viti M6x8(H) e stringere con la chiave a
brugola (K).

XMl Installeer de “C” Klembeugel (C) op de Paal (A) met
behulp van 3 stuks M6x8 Bouten (H), en draai vast met
de Inbussleutel (K).

A-2 Attach Soft Pad (F) to the “C” Clamp Brace(C).

m Befestigen Sie das weiche Pad (F) an der "C"-Klemmstiitze (C).
Attachez le tampon souple (F) a la bride a serrage en "C" (C).
Adjunte el cojin suave (F) al soporte de abrazadera en "C" (C).
Fissare il cuscinetto morbido (F) al supporto a morsetto a "C" (C).
Bevestig de Zachte Pad (F) aan de “C” Klembeugel (C).

08



A'3 Install the “C” Clamp(B) to the pole assembly according to the thickness of the desktop.
The thickness can be changed to three positions. Connect it using 2pcs M6x10 Bolts(G),
and tighten using the Allen Key(K). Tighten the “C” - Clamp to the desktop using the
plastic knob.

@ Befestigen Sie die "C"-Klemme (B) gemaR der Dicke
des Schreibtischs an der Pfostenmontage.Die Dicke
kann auf drei Positionen geandert werden.
Verbinden Sie es mit 2 Stlick M6x10 Schrauben (G)
und ziehen Sie es mit dem Innensechskantschlissel
(K) fest. Ziehen Sie die "C"-Klemme mit dem
Kunststoffknopf am Schreibtisch fest.

Installez la bride a serrage en "C" (B) sur I'assemb-
lage du poteau en fonction de I'épaisseur du bureau.

L'épaisseur peut étre modifiée sur trois positions.

¢ Connectez-la a l'aide de 2 vis M6x10 (G) et serrez a
I'aide de la clé Allen (K). Serrez la bride a serrage en
"C" sur le bureau en utilisant le bouton en plastique.
Plastic Knob Instale la abrazadera en "C" (B) en el montaje del poste
segun el grosor del escritorio. El grosor se puede
TR Installeer de “C” Klem (B) op de cambiar a tres posiciones. Conéctelo usando 2 tornillos
paalassemblage volgens de dikte M6x10 (G) y apriete con la llave Allen (K). Apriete la
van het bureaublad. De dikte kan apra_zadera en "C" al escritorio usando el botén de
worden aangepast naar drie plastico.
posities. Verbind het met behulp Installare il morsetto a "C" (B) sull'assemblaggio del
van 2 stuks M6x10 Bouten (G) en palo in base allo spessore della scrivania. Lo spessore
draai vast met de Inbussleutel (K). puo essere maodificato su tre posizioni. Collegarlo
Bevestig de “C” Klem aan het utilizzando 2 viti M6x10 (G) e stringere con la chiave a
bureaublad met behulp van de brugola (K). Stringere il morsetto a "C" alla scrivania
plastic knop. usando la manopola in plastica.

Option B: Grommet Base Install

Option B: Montage mit Kabeldurchfiihrungsbasis
Option B : Installation de la base de passe-cables
Opcion B: Instalacion de la base de pasacables
Opzione B: Installazione della base per passacavi
Optie B: Installatie met Grommet-basis

Existing Grommet Hole Installation

If the existing grommet hole comes with a plastic protector, remove it to ensure a flat surface

before installing the desk mount.

Installation in vorhandenes Kabeldurchfiihrungsloch
Wenn das vorhandene Kabeldurchfiihrungsloch mit einem Kunststoffschutz geliefert
wird, entfernen Sie ihn, um eine ebene Oberflache sicherzustellen, bevor Sie die
Schreibtischhalterung installieren.

Installation dans un trou de passe-cables existant
Si le trou de passe-cables existant est équipé d'un protecteur en plastique, retirez-le
pour garantir une surface plane avant d'installer le support de bureau.

Instalacion en un agujero de pasacables existente
Si el agujero de pasacables existente viene con un protector de plastico, retirelo para
asegurar una superficie plana antes de instalar el soporte de escritorio.

Installazione in un foro passacavi esistente
Se il foro passacavi esistente & dotato di un protettore in plastica, rimuoverlo per
garantire una superficie piana prima di installare il supporto da scrivania.

09




Installatie van Bestaand Doorvoergat
Als het bestaande doorvoergat is voorzien van een plastic beschermkap, verwijder
deze om een vlakke ondergrond te garanderen voordat u de bureausteun installeert.

B-1 Attach Soft Pad (F) to the Grommet Base Plate (A).

Befestigen Sie das weiche Pad (F) an der Grommet-Grundplatte (A).
Attachez le tampon souple (F) a la plaque de base du passe-cables (A).
Adjunte el cojin suave (F) a la placa base del pasacables (A).

Fissare il cuscinetto morbido (F) alla piastra base del passacavi (A).

Bevestig de Zachte Pad (F) aan de Doorvoergat Basisplaat (A).

\/\

A
@/
JF

B-2 Disassemble the "C" Clamp (B) with a phillips screwdriver and remove the bolt.

[} Demontieren Sie die "C"-Klemme (B) mit einem Kreuzschraubendreher
und entfernen Sie die Schraube.

IDémontez la bride a serrage en "C" (B) avec un tournevis cruciforme et retirez la vis.
Desmonte la abrazadera en "C" (B) con un destornillador Phillips y retire el perno.

Il Smontare il morsetto a "C" (B) con un cacciavite a croce e rimuovere la vite.

N[l Demonteer de "C" Klem (B) met een kruiskopschroevendraaier en verwijder de bout.

10



B-3 Position the Pole(A) on the mounting surface and secure using the Support Plate and Bolt.

Positionieren Sie die Stange (A) auf der Montageflache und befestigen Sie sie
mit der Stutzplatte und der Schraube.

IDémontez la bride a serrage en "C" (A) avec un tournevis cruciforme et retirez la vis.
Desmonte la abrazadera en "C" (A) con un destornillador Phillips y retire el perno.
Il Smontare il morsetto a "C" (A) con un cacciavite a croce e rimuovere la vite.
Positioneer de paal (A) op het montagemateriaal en bevestig deze met de steunplaat en bout.

—)

=== A

S ——

Option C: Grommet Base Install
Option C: Grommet-Basisinstallation
Option C : Installation de la base de passe-cables
Opcion C: Instalacion de la base de pasacables
Opzione C: Installazione della base per passacavi
Optie C: Installatie van Doorvoergat Basis

Self Drilled Grommet Hole Installation

Selbst gebohrte Grommet-Loch-Installation
Installation d'un trou de passe-cébles auto-perforant
Instalacion de agujero para pasacables autoperforante

Installazione del foro per passacavi auto-trapanato
Installatie van Zelf Geboord Doorvoergat

Position the Pole(A) on the mounting surface and mark the center hole.
Drill a 3/8" (10mm) diameter hole at the marked position through the mounting surface.

@ Positionieren Sie den Pfosten (A) auf der Montageoberflache und markieren Sie das Mittelloch.
Bohren Sie ein Loch mit einem Durchmesser von 3/8 Zoll (10 mm) an der markierten Position
durch die Montageoberflache.

Positionnez le poteau (A) sur la surface de montage et marquez le trou central. Percez un trou
de 3/8 pouces (10 mm) de diamétre a I'endroit marqué a travers la surface de montage.

Posicione el poste (A) en la superficie de montaje y marque el agujero central. Perfore unagujero
de 3/8 pulgadas (10 mm) de diametro en la posicion marcada a través de la superficie de montaje.

[yl Posizionare il palo (A) sulla superficie di montaggio e segnare il foro centrale. Trapanare un foro
con un diametro di 3/8 pollici (10 mm) nella posizione segnata attraverso la superficie di montaggio.

Plaats de Paal (A) op het montageoppervlak en markeer het middengat. Boor een gat met een
diameter van 3/8" (10mm) op de gemarkeerde positie door het montageopperviak.

11



C -2 Attach Soft Pad (F) to the Grommet Base Plate (A).

Befestigen Sie das weiche Pad (F) an der
Grommet-Grundplatte (A).

Attachez le tampon souple (F) a la plaque de base du
passe-cables (A).

Adjunte el cojin suave (F) a la placa base del A
pasacables (A).

Fissare il cuscinetto morbido (F) alla piastra base del
passacavi (A).

Bevestig de Zachte Pad (F) aan de Doorvoergat
Basisplaat (A).

(r
\

— =D

C-3 Disassemble the "C" Clamp (B) with a phillips screwdriver and remove the bolt.

5]} Demontieren Sie die "C"-Klemme (B) mit einem Kreuzschraubendreher
und entfernen Sie die Schraube.

IDémontez la bride a serrage en "C" (B) avec un tournevis cruciforme et retirez la vis.
=8y Desmonte la abrazadera en "C" (B) con un destornillador Phillips y retire el perno.
(Il Smontare il morsetto a "C" (B) con un cacciavite a croce e rimuovere la vite.
NIl Demonteer de "C" Klem (B) met een kruiskopschroevendraaier en verwijder de bout.

C-4 Position the Pole(A) on the mounting surface and secure using the Support Plate and Bolt.

Positionieren Sie die Stange (A) auf der Montageflache und befestigen Sie sie
mit der Stiutzplatte und der Schraube.
IDémontez la bride a serrage en "C" (A) avec un
tournevis cruciforme et retirez la vis.
Desmonte la abrazadera en "C" (A) con un destornillador
Phillips y retire el perno. A
il Smontare il morsetto a "C" (A) con un cacciavite a
croce e rimuovere la vite.

Positioneer de paal (A) op het montagemateriaal en .
bevestig deze met de steunplaat en bout.

A
;

@‘(

Plastic Knob
Plastikknopf

12




Step 2 Install Arm to the Pole

Schritt 2: Befestigen Sie den Arm am Pfosten
Etape 2 : Installez le bras sur le poteau

Paso 2: Instale el brazo en el poste
Passaggio 2: Installare il braccio sul palo
Stap 2: Bevestig de arm aan de paal

2_1 linstall Swivel Arm(D) to the Pole(A). Fasten the bolt with sup-plied Allen Key(K). Attach
the Wire Clip(M1,M2) to the Pole(A) and Swivel Arm(D).

m Installieren Sie den Schwenkarm (D) an der Stange (A). Befestigen Sie den Bolzen mit dem
mitgelieferten Inbusschliissel (K). Befestigen Sie den Kabelclip (M1, M2) an der Stange (A)
und am Schwenkarm (D).

Installez le bras pivotant (D) sur le poteau (A). Serrez le boulon avec la clé Allen fournie (K).
Fixez le clip de fil (M1, M2) au poteau (A) et au bras pivotant (D).

Instale el brazo giratorio (D) en el poste (A). Apriete el perno con la llave Allen suministrada
(K). Coloque el clip de alambre (M1, M2) en el poste (A) y el brazo giratorio (D).

Installare il braccio girevole (D) sul palo (A). Fissare il bullone con la
chiave Allen in dotazione (K). Attaccare la clip del cavo (M1, M2)
al palo (A) e al braccio girevole (D).

Installeer de Draaibare Arm (D) op de
Paal (A). Bevestig de bout met de
meegeleverde Inbussleutel (K).
Bevestig de Draadklem (M1, M2) aan de
Paal (A) en de Draaibare Arm (D).

Step 3 Attach the VESA Plate to the Monitor

Schritt 3 : Befestigen Sie die VESA-Platte am Monitor
Etape 3 : Attachez la plaque VESA au moniteur
Paso 3: Fije la placa VESA al monitor

Passaggio 3: Attaccare la piastra
VESA al monitor

Stap 3: Bevestig de VESA-plaat aan
de monitor

M-E

M-A/B/C/D
K

13



Step 4 Slide the Monitor onto the Head of Swivel Arm

Schritt 4: Schieben Sie den Monitor auf den Kopf des schwenkbaren Arms
Etape 4 : Faites glisser le moniteur sur la téte du bras pivotant

Paso 4: Deslice el monitor sobre la cabeza del brazo giratorio

Passaggio 4: Far scorrere il monitor sulla testa del braccio girevole

Stap 4: Schuif de monitor op de kop van de draaibare arm

4-1 Slide the monitor onto the head of Swivel Arm(D) as shown in the above diagram.

Schieben Sie den Monitor auf den Kopf des
Schwenkarms (D), wie im obigen Diagramm
gezeigt.

Faites glisser le moniteur sur la téte du bras
pivotant (D) comme indiqué dans le diagramme
ci-dessus.

=) Deslice el monitor sobre la cabeza del brazo
giratorio (D) como se muestra en el diagrama
anterior.

Rl Far scorrere il monitor sulla testa del braccio
girevole (D) come mostrato nel diagramma
sopra.

Schuif de monitor op het hoofd van de
Draaibare Arm (D) zoals weergegeven in het
bovenstaande diagram.

4_2 Install the security Nut(l). Make sure the security nut is installed before you rotate
the monitor.

Installieren Sie die Sicherungsmutter (l).
Stellen Sie sicher, dass die Sicherungsmutter
installiert ist, bevor Sie den Monitor drehen.

Installez I'écrou de sécurité (l). Assurez-vous
que I'écrou de sécurité est installé avant de
faire pivoter le moniteur.

Instale la tuerca de seguridad (l). Asegurese
de que la tuerca de seguridad esté instalada
antes de girar el monitor.

Installare il dado di sicurezza (l). Assicurarsi
che il dado di sicurezza sia installato prima
di ruotare il monitor.

Installeer de beveiligingsmoer (l)). Zorg m

ervoor dat de beveiligingsmoer is
geinstalleerd voordat u de monitor draait.

Step 5 Make the Necessary Adjustments

Schritt 5: Nehmen Sie die erforderlichen Anpassungen vor
Etape 5 : Effectuez les ajustements nécessaires

Paso 5: Realice los ajustes necesarios

Passaggio 5: Effettuare le regolazioni necessarie

Stap 5: Maak de benodigde aanpassingen

14




5-1 Tighten the bolt with the supplied Allen Key(K) to fix the tilt angle.

Ziehen Sie die Schraube mit dem mitgelieferten
Inbusschliissel (K) fest, um den
Neigungswinkel zu fixieren.

Serrez le boulon avec la clé Allen fournie (K)
pour fixer I'angle d'inclinaison.

Apriete el perno con la llave Allen suministrada
(K) para fijar el angulo de inclinacién.

Stringere la vite con la chiave esagonale fornita
(K) per fissare I'angolo di inclinazione.

Draai de bout vast met de meegeleverde
Inbussleutel (K) om de kantelhoek vast te

zetten.
Fix the tilt angle Fije el angulo de inclinacién
Fixieren Sie den Neigungswinkel Fissare I'angolo di inclinazione
Fixez 'angle d'inclinaison Zet de kantelhoek vast

5-2 If one monitor is lower, turn the plastic knob counter-clockwise to raise the monitor.

@ Wenn ein Monitor niedriger ist, drehen Sie den
Plastikknopf gegen den Uhrzeigersinn, um den
Monitor anzuheben.

Si un moniteur est plus bas, tournez le bouton en
plastique dans le sens antihoraire pour élever le
moniteur.

Si un monitor esta mas bajo, gire la perilla de
plastico en sentido antihorario para elevar el
monitor.

Se un monitor & piu basso, ruotare la manopola
di plastica in senso antiorario per sollevare il
monitor.

Als een monitor lager is, draai de plastic knop
tegen de klok in om de monitor te verhogen. m m m m

Ignore this step if monitors are level
Ignorieren Sie diesen Schritt, wenn die Monitore eben sind
Ignorez cette étape si les moniteurs sont de niveau

Ignore este paso si los monitores estan nivelados

Ignora questo passaggio se i monitor sono livellati

Sla deze stap over als de monitoren waterpas staan

Step 6 Manage the Wires and Store the Allen Keys on Wire Clip

@ Schritt 6: Verwalten Sie die Kabel und bewahren Sie die Inbusschliissel am Drahtclip auf
Etape 6 : Gérez les cables et rangez les clés Allen sur le clip de fil

Paso 6: Administre los cables y guarde las llaves Allen en el clip de alambre

Passaggio 6: Gestire i cavi e conservare le chiavi esagonali sul clip per cavi

Stap 6: Beheer de draden en bewaar de inbussleutels op de kabelclip

15




6-1 Use the supplied Allen Key(K) to make the necessary adjustments.

Verwenden Sie den mitgelieferten Inbusschliissel (K), um die erforderlichen Anpassungen
vorzunehmen.

Utilisez la clé Allen fournie (K) pour effectuer les ajustements nécessaires.

Utilice la llave Allen suministrada (K) para realizar los ajustes necesarios.

Utilizzare la chiave Allen fornita (K) per effettuare le regolazioni necessarie.

Gebruik de meegeleverde Inbussleutel (K) om de benodigde aanpassingen te maken.

6-2 Manage the wires and store the Allen keys(K/L) in Wire Clip(M1) for future use.

m Verlegen Sie die Kabel und bewahren Sie die Inbusschliissel (K/L) im Kabelclip (M1) zur
spateren Verwendung auf.
Gérez les cables et rangez les clés Allen (K/L) dans le clip de cable (M1) pour une utilisation future.

Organice los cables y guarde las llaves Allen (K/L) en el clip para cables (M1) para su uso futuro.
Gestisci i cavi e riponi le chiavi Allen (K/L) nel fermacavo (M1) per un uso futuro.
Beheer de draden en bewaar de inbussleutels (K/L) in de draadklem (M1) voor toekomstig gebruik.

16



B'NTEC INSTALLATION MANUAL
Installatiehandleiding
Installationsmanual

Instrukcja instalaciji
Kurulum Kilavuzu

Dual Monitor Desk Mount

Support de bureau pour double moniteur
Skarmstativ for dubbla skarmar

Uchwyt na biurko do dwéch monitoréw
Cift Monitér Masa Montaiji

Model/Modell/Model:MDMO002L

Contents - Contenu - Innehall - Zawartosé - igindekiler

Step 1 Install the Pole to the Desktop

Etape 1 Installer le poteau sur le bureau
Steg 1 Installera stangen pa skrivbordet
Krok 1 Zainstaluj stup na biurku

Adim 1 Diregi Masa Ustiine Takin

17



Option A: Desk Clamp Install

Option A : Installation avec pince de bureau
Alternativ A: Skrivbordsklamma installation
Opcja A: Instalacja zacisku biurkowego
Secgenek A: Masa Kelepgesi Kurulumu

Option B: Grommet Base Install

3 Option B : Installation avec base de passe-cables
Alternativ B: Grommet-basinstallation

Opcija B: Instalacja na podstawie zacisku
Sec¢enek B: Grommet Taban Kurulumu

Option C: Grommet Base Install

Option C : Installation avec base de passe-cables
Alternativ C: Grommet-basinstallation

Opcja C: Instalacja na podstawie grommet
Secenek C: Grommet Taban Kurulumu

Step 2 Install Arm to the Pole

Etape 2 Installer le bras sur le poteau
Steg 2 Installera armen pa stangen
Krok 2 Zamontuj ramie do stupa
Adim 2 Kolu Direge Takin

Step 3 Attach the VESA Plate to the Monitor

Etape 3 Attachez la plaque VESA au moniteur
Steg 3 Fast VESA-plattan pa monitorn

Krok 3 Zamocuj ptyte VESA do monitora
Adim 3 VESA Plakasini Monitoére Baglayin

Step 4 Slide the Monitor onto the Head of Swivel Arm

Etape 4 Glissez le moniteur sur la téte du bras pivotant
Steg 4 Skjut monitorn pa huvudet pa den sviangbara armen
Krok 4 Przesun monitor na glowice ramienia obrotowego
Adim 4 Monitori Doner Kolun Kafasina Kaydirin

18




Step 5 Make the Necessary Adjustments

Etape 5 Effectuez les ajustements nécessaires
Steg 5 Gor de nédvandiga justeringarna

Krok 5 Wykonaj niezbedne dostosowania
Adim 5 Gerekli Ayarlamalari Yapin

Step 6 Manage the Wires and Store the Allen Keys on Wire Clip

Etape 6 Gérez les cables et rangez les clés Allen sur le clip de fil

Steg 6 Hantera kablarna och forvara insexnycklarna pa
kabelklippet

Krok 6 Zarzadzaj przewodami i przechowuj klucze Allen na
klipsie drucianym

Adim 6 Kablolari Yénetin ve inbus Anahtarlarini Tel
Klipsinde Saklayin




